Multiplier les nombres décimaux par des puissances
de dix

Nom:

2,876 x 100000 =

2,924 x 100 =

5,008 x 1000000 =

7,337 x 10000 =

Date:

4,246 x 1000 =

5,276 x 100 =

10,446 x 1000 =

10,305 x 100 =

5,437 x 100 =

10,946 x 10 =

3,683 x 10 =

3,743 x 100000 =

1,462 x 1000 =

10,396 x 100 =

6, 882 x 1000000 =

10, 686 x 100 =

5,215 x 100000 =

7,663 x 100000 =

6,714 x 100 =

8, 734 x 100000 =
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Multiplier les nombres décimaux par des puissances

de dix
Nom: Date: Note:

2,876 x 100000 = 287600 4,246 x 1000 = 4246
2,924 x 100 =292.4 5,276 x 100 = 527.6
5, 008 x 1000000 = 5008000 10, 446 x 1000 = 10446
7,337 x 10000 = 73370 10,396 x 100 = 1039.6
10,305 x 100 = 1030.5 6, 882 x 1000000 = 6882000
5,437 x 100 = 543.7 10, 686 x 100 = 1068.6
10,946 x 10 = 109.46 5,215 x 100000 = 521500
3,683 x 10 =36.83 7,663 x 100000 = 766300
3,743 x 100000 = 374300 6,714 x 100 = 671.4
1,462 x 1000 = 1462 8, 734 x 100000 = 873400

www.snowmath.com


https://www.snowmath.com

